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QUESTION 1

Which statement below best describes the primary objective of the Sprint Retrospective? 

A. The primary objective of the Sprint Retrospective is to identify what went wrong or hindered the Sprint 

B. The primary objective of the Sprint Retrospective is to provide feedback to the Product Owner(s). 

C. The primary objective of the Sprint Retrospective is to recommend ways to work better in the Sprint 

D. The primary objective of the Sprint Retrospective is to review the workcompleted by the Team during the Sprint. 

Correct Answer: C 

 

QUESTION 2

True or False: The Scrum Framework encompasses rules or guidelines for architecture? 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 3

Under what circumstances should separate Product Backlogs be maintained? 

A. There are several Product Owners for one product. Each Product Owner should have their own Product Backlog 

B. There are multiple teams working on independent products. Each unique combination of team and product should
have an independent Product Backlog 

C. There are multiple product features being developed by the same team. 

D. There are multiple teams working on the components of the same product. Each team should an independent
Product Backlog 

Correct Answer: B 

 

QUESTION 4

Which of the following activities do not occur at the end of the Sprint? (Choose two) A. Software development 

B. Release deployment 

C. Sprint review meeting 

D. Quality assurance testing 
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Correct Answer: AD 

 

QUESTION 5

A ScrumMaster: 

A. Prioritizes the work for each iteration 

B. Directs the activities of the team 

C. Provides leadership, guidance, and coaching 

D. Manages the project scope and budget 

Correct Answer: C 

Reference: https://lensa.com/scrum-master-jobs/rancho-cordova/ jd/6c71ec1a208e841d19f6b97f969fb08b#description 

 

QUESTION 6

How should the Product Backlog be arranged? 

A. Product Backlog items should be sorted by level of effort or complexity in descending order. 

B. Product Backlog items should be sorted by business priority in descending order. 

C. Product Backlog items should be date sorted in ascending order. 

D. Product Backlog items should be grouped by business category or feature. 

Correct Answer: B 

 

QUESTION 7

Which of the following is NOT part of the Sprint? 

A. The product is released to customers after each Sprint 

B. The principal goal for a Sprint is to produce release-quality increments in functionality 

C. Releases usually incorporate the result of multiple Sprints 

D. Occur at times dictated by customer and business needs 

Correct Answer: A 

 

QUESTION 8

Upon what type of process control is Scrum based? 
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A. Hybrid 

B. Defined 

C. Complex 

D. Empirical 

Correct Answer: D 

 

QUESTION 9

It\\'s come to your attention that some team members feel that Carlos is a negative influence on the team. You can
certainly understand why -- he believes that everything is doomed. What should you do? 

A. Remove Carlos from the team. 

B. Use Carlos as an asset, particularly during risk identification 

C. Ignore him and hope it goes away 

D. Escalate the issue with the higher authorities 

Correct Answer: B 

 

QUESTION 10

What is the maximum time that Scrum recommends the team spend in the daily scrum (daily standup)? 

A. Fifteen minutes 

B. Thirty minutes 

C. One hour 

D. Four hours 

E. As long as it takes 

Correct Answer: A 

 

QUESTION 11

How many principles form the foundation of the Manifesto for Agile Software Development? 

A. 10 

B. 9 

C. 12 
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D. 15 

Correct Answer: C 

 

QUESTION 12

Which statement below best describes the primary objective of the Sprint Review? 

A. The primary objective of the Sprint Review is to demo the Sprint work for Senior Management 

B. The primary objective of the Sprint Review is to demo the Sprint work and to receive feedback from the Product
Owner(s) on the work completed in the Sprint 

C. The primary objective of the Sprint Review is to demo the Sprint work and to receive feedback from the Scrum Mater
on the work completed in the Sprint 

D. The primary objective of the Sprint Review is to demo the Sprint work and to recommend ways to work better in the
Sprint. 

Correct Answer: B 

 

QUESTION 13

Which three activities will a Product Owner likely engage in during a Sprint? (Choose 3) 

A. Run the daily Scrum 

B. Answer questions from the Development Team about items in the current Sprint 

C. Update the Sprint burndown chart 

D. Work with the stakeholders 

E. Prioritize the Development Team\\'s activities. 

F. Provide feedback 

Correct Answer: BDF 

 

QUESTION 14

As the Sprint planning progresses, the workload has grown beyond the development team\\'s capacity. Which action
makes most sense for the Team? 

A. Work overtime for the Sprint 

B. Collaborate with the Product Owner and potentially remove or change items 

C. Cancel the Sprint 

D. Star the Sprint and recruit additional team members 
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Correct Answer: B 

 

QUESTION 15

Which of the following are artifacts associated with Scrum? 

A. Product specification 

B. Effort chart 

C. Sprint backlog 

D. Product owner list 

Correct Answer: C 
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